

MTH 240 - Assignment #4 key

①

$$1) \quad \frac{dy}{dx} = \frac{2y}{x} - x^2 y^2$$

$$\mu(x) = e^{\int \frac{2}{x} dx} = e^{2 \ln|x|} = x^2$$

$$\frac{dy}{dx} - \frac{2}{x} y = -x^2 y^2$$

$$x^2 u(x) = \int x^4 dx = \frac{1}{5} x^5 + C$$

$$y^{-2} \frac{dy}{dx} - \frac{2}{x} y^{-1} = -x^2$$

$$u(x) = \frac{1}{5} x^3 + \frac{C}{x^2}$$

$$u = y^{-1}$$

$$y(x) = \frac{1}{\frac{1}{5} x^3 + \frac{C}{x^2}} = \frac{5x^2}{x^5 + C}$$

$$\frac{du}{dx} = -y^{-2} \frac{dy}{dx}$$

$$y(x) = \frac{5x^2}{x^5 + C}$$

$$-\frac{du}{dx} - \frac{2}{x} u = -x^2$$

$$\frac{du}{dx} + \frac{2}{x} u = x^2$$

$$2) \quad (y^2 - xy) dx + x^2 dy = 0$$

$$\frac{dy}{dx} = \frac{xy - y^2}{x^2} = \frac{y}{x} - \left(\frac{y}{x}\right)^2$$

$$\int u^{-2} du = - \int \frac{1}{x} dx$$

$$-\frac{1}{u} = -\ln|x| + C$$

$$u = \frac{y}{x}$$

$$ux = y$$

$$\frac{1}{u} = \ln|x| + C$$

$$\frac{dy}{dx} = u + x \frac{du}{dx}$$

$$\frac{x}{y} = \ln|x| + C$$

$$u + x \frac{du}{dx} = u - u^2$$

$$y(x) = \frac{x}{\ln|x| + C}$$

$$x \frac{du}{dx} = -u^2$$

$$\frac{1}{u^2} du = -\frac{1}{x} dx$$

$$3) \frac{dy}{dx} = \frac{y+x}{x-y} = \frac{\frac{y}{x} + 1}{1 - \frac{y}{x}}, \quad y(1) = 0$$

$$u = \frac{y}{x} \quad y = ux \quad \frac{dy}{dx} = u + x \frac{du}{dx}$$

$$u + x \frac{du}{dx} = \frac{u+1}{1-u} \Rightarrow x \cdot \frac{du}{dx} = \frac{u+1}{1-u} - \frac{u(1-u)}{1-u} = \frac{u^2+1}{1-u}$$

$$\frac{1-u}{1+u^2} du = \frac{1}{x} dx \Rightarrow \int \frac{1}{1+u^2} du - \int \frac{u}{1+u^2} du = \int \frac{1}{x} dx$$

$$w = 1+u^2 \\ du = \frac{dw}{2u}$$

$$\tan^{-1} u - \frac{1}{2} \ln(1+u^2) = \ln|x| + C$$

$$\tan^{-1}\left(\frac{y}{x}\right) - \frac{1}{2} \ln\left(1 + \frac{y^2}{x^2}\right) = \ln|x| + C$$

$$y(1) = 0 \Rightarrow C = 0$$

$$\tan^{-1}\left(\frac{y}{x}\right) - \frac{1}{2} \ln\left(1 + \frac{y^2}{x^2}\right) - \ln|x| = 0$$

$$4) \frac{dy}{dx} = (x+y+2)^2, \quad y(0) = -1$$

$$u = x+y+2$$

$$\frac{du}{dx} = 1 + \frac{dy}{dx}$$

$$\frac{du}{dx} - 1 = u^2$$

$$\frac{du}{dx} = u^2 + 1$$

$$\frac{du}{u^2+1} = dx \Rightarrow \tan^{-1}(x+y+2) = x + C$$

$$y(x) = \tan(x+C) - 2 - x$$

$$y(0) = -1 \Rightarrow \tan(C) - 2 = -1 \\ C = \frac{\pi}{4}$$

$$y(x) = \tan\left(x + \frac{\pi}{4}\right) - 2 - x$$

$$5) \quad xy'' + y' = 4x$$

$$u = y', \quad u' = y''$$

$$xu' + u = 4x$$

$$u' + \frac{1}{x}u = 4$$

$$\mu(x) = e^{\int \frac{1}{x} dx} = e^{\ln|x|} = |x|$$

= X Assuming $x > 0$

$$\begin{aligned} x u(x) &= \int 4x dx \\ &= 2x^2 + C \end{aligned}$$

$$u(x) = 2x + \frac{C}{x}$$

$$y'(x) = 2x + \frac{C}{x}$$

$$y(x) = x^2 + C \ln x + D, \quad x > 0$$

$$6) \quad y'' + y = 0$$

$$u = y' \quad \frac{du}{dx} = \frac{du}{dy} \frac{dy}{dx} \Rightarrow y'' = u \frac{du}{dy}$$

$$u \frac{du}{dy} + y = 0$$

$$u \, du = -y \, dy$$

$$\frac{u^2}{2} = -\frac{y^2}{2} + C, \quad C > 0$$

$$u^2 = C - y^2$$

$$u = \pm \sqrt{C - y^2}$$

$$\frac{dy}{\pm \sqrt{C - y^2}} = dx$$

$$\pm \frac{1}{\sqrt{C}} \frac{1}{\sqrt{1 - \left(\frac{y}{\sqrt{C}}\right)^2}} dy = dx$$

$$u = \frac{y}{\sqrt{C}}$$

$$du = \frac{1}{\sqrt{C}} dy$$

$$\pm \int \frac{1}{\sqrt{1 - u^2}} du = \int dx$$

$$\pm \sin^{-1} u = x + D$$

$$\frac{y}{\sqrt{C}} = \pm \sin(x + D)$$

$$y(x) = \pm \sqrt{C} \sin(x + D)$$

$$= \pm \sqrt{C} \sin x \cos D \pm \sqrt{C} \sin D \cos x$$

$$y(x) = A \sin x + B \cos x$$

$$7) \quad xy'' + 5y' = 0, \quad x > 0$$

$$a) \quad u = y', \quad u' = y''$$

$$xu' + 5u = 0$$

$$\frac{1}{u} du = -\frac{5}{x} dx$$

$$\ln|u| = -5 \ln|x| + C$$

$$u = e^{-5 \ln|x| + C} = \frac{C}{x^5}, \quad x > 0$$

$$\frac{dy}{dx} = \frac{C}{x^5} \Rightarrow y(x) = -\frac{C}{4} x^{-4} + D$$

$$y(x) = \frac{C}{x^4} + D$$

$$b) \quad \text{Verify } y_1(x) \equiv 1 \dots$$

$$y_1(x) = 1$$

$$y_1'(x) = 0$$

$$y_1''(x) = 0$$

$$xy_1'' + 5y_1' = x(0) + 5(0) = 0 \quad \checkmark$$

$$\text{Verify } y_2(x) = x^{-4} \dots$$

$$y_2(x) = x^{-4}, \quad x > 0$$

$$y_2'(x) = 4x^{-5}$$

$$y_2''(x) = -20x^{-6}$$

$$xy_2'' + 5y_2' = x(-20x^{-6}) + 5(4x^{-5})$$

$$= -20x^{-5} + 20x^{-5} = 0 \quad \checkmark$$

7) CONTINUED...

6

c)

$$W[y_1, y_2](x) = \begin{vmatrix} 1 & x^{-4} \\ 0 & -4x^{-5} \end{vmatrix} = -\frac{4}{x^5} \neq 0 \text{ For any } x.$$

↓

SOLUTIONS y_1 AND y_2

ARE LINEARLY INDEP

WHEN $x \neq 0$.

d) $y(x) = c_1 + \frac{c_2}{x^4}$

$$y'(x) = -\frac{4c_2}{x^5}$$

$$y(1) = 2 \Rightarrow c_1 + c_2 = 2$$

$$y'(1) = 4 \Rightarrow -4c_2 = 4$$

$$c_2 = -1$$

$$c_1 = 3$$

$$y(x) = 3 - \frac{1}{x^4}$$

$$8) \quad yy'' + (y')^2 = 0$$

a) Verify $y_1(x) \equiv 1 \dots$

$$y_1(x) = 1$$

$$y_1'(x) = 0$$

$$y_1''(x) = 0$$

$$1(0) + (0)^2 = 0 \quad \checkmark$$

Verify $y_2(x) = \sqrt{x} \dots$

$$y_2(x) = \sqrt{x}$$

$$y_2'(x) = \frac{1}{2\sqrt{x}}$$

$$y_2''(x) = \frac{-1}{4\sqrt{x^3}}$$

$$\sqrt{x} \left(-\frac{1}{4\sqrt{x^3}} \right) + \left(\frac{1}{2\sqrt{x}} \right)^2$$

$$= -\frac{1}{4x} + \frac{1}{4x} = 0 \quad \checkmark$$

$$b) \quad y_1(x) + y_2(x) = 1 + \sqrt{x}$$

$$[y_1(x) + y_2(x)]' = \frac{1}{2\sqrt{x}}$$

$$[y_1(x) + y_2(x)]'' = -\frac{1}{4\sqrt{x^3}}$$

$$(y_1 + y_2)(x) [(y_1 + y_2)(x)]'' + [(y_1 + y_2)'(x)]^2$$

$$(1 + \sqrt{x}) \left(-\frac{1}{4\sqrt{x^3}} \right) + \frac{1}{4x} = -\frac{1}{4\sqrt{x^3}} \neq 0 \quad \checkmark$$

c) THIS EQUATION IS NONLINEAR!

I only expect a sum of solutions to be a solution
for linear equations.

9) $y'' - y' - 12y = 0, y(0) = 2, y'(0) = -5$

Char Eqn:

$$r^2 - r - 12 = 0$$

$$(r-4)(r+3) = 0$$

$$r=4, r=-3$$

$$y(x) = c_1 e^{4x} + c_2 e^{-3x}$$

$$y(0) = 2 \Rightarrow c_1 + c_2 = 2$$

$$y'(0) = -5 \Rightarrow 4c_1 - 3c_2 = -5$$

$$7c_1 = 1$$

$$c_1 = \frac{1}{7}$$

$$c_2 = \frac{13}{7}$$

$$y(x) = \frac{1}{7} e^{4x} + \frac{13}{7} e^{-3x}$$

10) $y^{(4)} - y'' = 0$

Char Eqn:

$$r^4 - r^2 = 0$$

$$r^2(r^2 - 1) = 0$$

$$r^2(r+1)(r-1) = 0$$

$$r=0, r=0, r=-1, r=1$$

$$y(x) = c_1 e^{0x} + c_2 x e^{0x} + c_3 e^{-x} + c_4 e^x$$

$$y(x) = c_1 + c_2 x + c_3 e^{-x} + c_4 e^x$$